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Quiz1 

 

Use the given SAS file to finish the following. The file contains donor data from the last 

campaign. The objective is to use the predictive model you have created to target the most likely 

donors.  

 

- Create a SAS Enterprise Miner project to predict probability of donation given the donor 

data. Use Target B and ignore/reject Target D. 

 
 

 

 

 

 

 

 



- Determine the appropriate level of each variable given the description and the data 

profile. 

 

 
 

 

 

 

 

 

 

 



- You must use techniques we have covered so far, including variable selection and 

principal components, to try to improve the performance of prediction. If you reject or 

recommend a particular technique, you must support your rejection/recommendation with 

at least two appropriate metrics.  

 

o First off you must do variable selection in order to get your results to run. As seen 

in the data, there are over 500 variables. This exceed the maximum limit for 

Regression. The variable selection node reduced your number of input variables 

to six. The rest were eliminated for reasons such as an r-square value not meeting 

a threshold value 

 
o According to SAS the correlation PCA with variable selection is the selected 

model to use based on the r-square value that was above a certain threshold and 

the misclassification rate. I would recommend the PCA correlation that utilized 

variable selection. It has a low root average squared error and it has the lowest 

misclassification rate out of the three regressions. 

 
o I would reject regular regression without principle component analysis. PCA is a 

method of extracting important variables (in form of components) from a large set 

of variables available in a data set. It extracts low dimensional set of features from 

a high dimensional data set in an attempt to capture as much information as it can. 

PCA is more useful when dealing with 3 or higher dimensional data. It is always 

performed on a symmetric correlation or covariance matrix. This means the matrix 

should be numeric and have standardized data. In terms of standardization, all your 

data should be standardized to measure in the same units. For example you may 

want to standardize all of your data in terms of a z-score distribution. The purpose 

of PCA is to try to reduce the number of variables you have, in the first run of the 

covariance PCA you can see that it accounts for over 99% of your data. Instead you 

will want to use PCA for correlation it normalizes your data for you. 

o I would reject PCA for covariance, as you can see from the eigenvalues below, we 

have more of our values explained over multiple runs. Also from the results above 

the correlation regression using PCA has a lower root average squared error and a 

lower misclassification rate than covariance PCA regression. 



 

 
 

 

 

 

 

 



- Discuss a scenario in which the LIFT chart can be used to demonstrate the benefit of a 

predictive model as opposed to randomly sending out promotions. 

 

Lift is a measure of the effectiveness of a predictive model calculated as the ratio between the 

results obtained with and without the predictive model. The Cumulative gains and lift charts 

are visual aids for measuring model performance. Both charts consist of a lift curve and a 

baseline. The greater the area between the lift curve and the baseline, the better the model. 

With a predictive model, a company can target their audience rather than blindly sending out 

mailers to everyone. For example, assume that the company has information on 100,000 

customers and that they have a 20% response rate (20,000 positive responses). A response 

model will predict who will actually respond to the mailing campaign. For example we can 

use the response model to assign a score to each of the 100,000 customers and predict the 

results of contacting only the top 20,000 customers. Using the predictions of the response 

model, we can calculate the percentage of positive responses for the percent of customers 

contacted and map these points to create the lift curve. For contacting 10% of customers 

using no model we would only get 10% of responders. But using a lift model we should get 

about 30% of responders. (30/10=3). 


